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QUESTION 1

Which two statements are true regarding a media gateway full back (recovery) to main (primary) servers? (Choose two) 

A. All active (stable) Ip calls on the media gateway drop when the media gateway falls back from the survivable remote
server to the main server. 

B. The list survivable-processor command can be used to confirm that the remote Survivable server is registered to the
main server and that the remote survivable server is no longer active. 

C. When the main server recovers it issues registration requests to all the media gateways in the network. 

D. Executing the status media-gateways command from the main server will show which media gateways are registered
with the main server. 

Correct Answer: BD 

 

QUESTION 2

A customer has selected Avaya Aura CM_survremote_embedded template. 

Which Avaya server should be used? 

A. S8730 Server 8Gb RAM 

B. S8800 Server 

C. S8510Server with 8GB RAM 

D. S8300D Server 

Correct Answer: D 

 

QUESTION 3

Which statement is true about duplex servers in CM 6.0? 

A. The survivable remote Duplex template includes branch session ,manager 

B. CM uses the high availability that system platform can now provide 

C. The license for the survivable server is different than the license file of the main server 

D. The main and all survivable servers require an authentication file 

Correct Answer: B 

 

QUESTION 4
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A user at extension 1111 complaints that when dialing extension 2222, the call is the call is unexpectedly answered by a
person at extension 3333. All other calls made are connected as expected. There is not display on the phone. While at
the SAT, the technician has the user repeat the call to extension 2222 

Which command identifies the reason this phone call is behaving in the expected way? 

A. List trace station 1111 

B. List trace station 3333 

C. Status station 1111 

D. Display station 3333 

Correct Answer: A 

 

QUESTION 5

Which two statements regarding shuffling and hairpining are true? (Choose two) 

A. Hairpining does not use media processor resources. 

B. The audio connection type field on the communication manager status station formation can be used to determine
whether a call is shuffled. 

C. A call between a DCP endpoint and H.323 end point can be shuffled. 

D. Shuffling release media processor resources. 

Correct Answer: BD 
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